CLASS: VIII
DAILY ASSIGNMENT-12
DATE: 02. 05. 2020 (Week-2)
SUBJECT: ENGLISH
Multiple Choice questions
TOPIC: KINDS OF SENTENCES

Identify the sentences given below and name it's kind:

1. Our family is planning a trip to the mountains.
a) Interrogative
b) Imperative
c) Declarative
d) Complex

2. Is snow boarding as much fun as it looks?

a)Interrogative
b) Imperative
c) Affirmative
d) Negative

3. Wow! I've never been in a city this huge!

a) Interrogative
b) Imperative
c) Complex

d) Exclamatory

4. Buy your tickets here for the Statue of Liberty.

a) Interrogative
b) Imperative
c) Declarative
d) Exclamatory

5. Don't miss the bus tour of the city.

a) Interrogative
b) Imperative
¢) Declarative
d) Exclamatory



SUBJECT: COMPUTER
Multiple choice questions:

1. A network of which network size generally ranges from 5 to 50 km and may be as small as
a group of buildings in a campus to as large as covering the whole city is known as:

a) Local area network

b) Personal area network

¢) Wide area network

d) Metropolitan area network

2. Which of the following is not a component of a database?
a) Fields

b) Records

c) Table

d) Relationships

3. Which of the following is created before creating any table that identifies the name, size
and types of various fields in a database?

a) Fields

b) Table structure

c) Forms

d) Table

4. Which of the following is not an advantage of using database?
a) Minimized Data Inconsistency:

b) Faster data Access

c) Complexity

d) Simplicity

5. The component of MS Access window that displays groups of related commands in tabs is
called:
a) Ribbon
b) Work area
c) Status bar
d) Navigation
SUBJECT: MATHS
Multiple choice questions:

1. Identify the perfect cube
a) 100
b) 1000
c) 10000
d) 100000
2. The cube root of 1.331 is
a) 1.1
b) 11.1
c) 1.01
d) 0.11



3.

The smallest number by which 81 should be divided to make it a perfect cube is
a) 3
b) 6
c) 9
d) 18
If 11x2 = 8019, find x
a) 7
b) 8
c) 9
d) 6
Find the volume of a cube, one face of which has an area 64m?
a) 216m?
b) 512m?
c) 625m?
d) 225m?
SUBJECT: PHYSICS

Multiple choice questions:

1.

If the two forces applied to an objects act in the same direction, then the resultant
force acting on the object is equal to
a. sum of the two forces
b. difference between the two forces
C. zero
d. remain same
The electrically charged comb attracts tiny pieces of paper due to
a. electrostatic force
gravitational force

b.
c. muscular force
d. frictional force

A rubber sucker stays attached firmly to a flat surface due to
a. atmospheric pressure

b. pressure

c. force

d. friction

If 50 Pa of pressure is applied on an objects of an area of 2 m2. Calculate the force.
a. 100 N

b. 200 N

c. 300N

d. 400N

What force acting on an area of 0.5 m? will produce a pressure of 500 Pa?

250 N

500 N

900 N

120N

o0 ow



SUBJECT: CHEMISTRY

Multiple choice questions:

1. Parachutes and ropes used for climbing a mountain are made of

A) Rayon.
B) Polyester.
C) Acrylic.
D) Nylon

2. While working in laboratory, one should wear clothes made of

A) Nylon.
B) Acrylic.
C) Cotton.
D) Polyester.

3. Paper is classified under

A) Wool.

B) Plastic.

C) Non-biodegradable substances.
D) Biodegradable substances.

4. Rayon is different from synthetic fibres because

A) it has a silk-like appearance.

B) it is obtained from wood pulp.

C) its fibres can also be woven like those of natural fibres.
D) it can be dyed in wide verity of colours

5. The handle and the bristles of a tooth brush are be made up of

A) Thermoplastics

B) Thermosetting plastic

C) Bakelite

D) Thermosetting plastic and thermoplastic

SUBJECT: BIOLOGY

Multiple choice questions:

1. Mustard is a source of:

(@ oil

(b) Carbohydrate

(c) Starch
(d) Fibres



2. Urea, CAN and di-ammonium phosphate are examples of:
(a) Fertilizers

(b) Manures

(c) Crops

(d) Both (b) and (c)

3. Leaving the and free for one or more seasons to regain nutrients is called:
(a) Field fallow

(b) Crop rotation

(c) Mixed cropping

(d) Multiple cropping

4. Dry storage is a method used for storing:
(a) Perishable foods

(b) Non- perishable foods

(c) Vegetables and fruits

(d) Both (a) and (c)

5. The rearing of honey bees on a large scale:
(a) Pisciculture
(b) Apiculture
(c) Poultry farming
(d) Horticulture
SUBJECT- CIVICS
Multiple choice questions:

1. The word ‘Secular’ was added in the Preamble to the Indian Constitution in
A) 1976
B.) 1968
C.) 1949
D.) 1986

2. Untouchability (offence)Act was introduce in
A) 1956
B) 1955
C) 1947
D) 1976

3. Fundamental duties got incorporated in the Constitution in
A) 1964
B) 1966
C) 1976
D) 1989



4.

Secularism means
A) separation of religion from State power.

B) separation of one community from another.

C) separation of politics from religion.
D) mixing of religion with politics.

Indian Constitution does not contain
A) equality

B) fundamental rights

C) reservations

D) discriminations

SUBJECT: GEOGRAPHY

Multiple choice questions:

1.

w
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The duration of days and nights varies from
Equator

Latitude

Longitude

Climate
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are not suitable for agriculture.

Alluvial soil
Black soil
Steep slopes
All of these

oo o

People prefer mostly to settle near
a. Banks of river
b. Desert area
c. Lakes
d. Both (a) and (c).

Physical factors influencing land use are :
a. 4

b. 3
c. 5
d. 6

The practice of destroying of forests to acquire land is

Afforestation
Deforestation
Mulching
Topography

o0 o

to the poles.
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